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With respect to government’s initiative ‘YUKTI 2.0’, consider the following statements :

i) Itis an initiative of Ministry of Skill Development and Enterpreneurship.

ii) It aims to foster the culture of innovation and entrepreneurshipin higher education institutions.
iii) Itis open to Indian and foreign academic institutes who are working on innovation.
Which of the statements given aboveis/are correct?:

a) ii only b) i and iii only C) i and iii only < d) i, i and iii.
With reference to the Snakes, consider the following statements :

i) All snakes are diurnal.

ii) All snakes are cold-blooded and must regulated their body temperatures.

iii) All snakes shed their skin because it does not grow with their body size.

Which of the statements given aboveis/are correct?:

a) iiandiiionly b) i and iii only C) ii only d) i, i and iii.
Consider the following countries :

l. Iran Il. Iraq M. Saudi Arabia

AV Jordand V. United Arab Emirates.

Which of the countries given above share border with the Persian Gulf? :

a. I, lland V b. I, 1, IVandV c. I, llland V d. [, 11,11l and V.

The Central Government has recently revamped Pradhan Mantri Fasal Bima Yojana (PMFBY)
to make it more effective. In this context, consider the following statements :

i) The enrolment under the scheme is made voluntary for all farmers.
i) To protect farmers’ interests, there is no limit on Centre’s subsidy.
iii) Insurance companies have to spend 0.5% of the total premium collected on information,

education and communication (IEC) activities.
Which of the statements given above are correct? :
a) i'and ii only b) iiandiiionly ¢ i and.iii only d) i, ii and iii.
Which of the following are essential growth conditions required for Coffee cultivation?:
i Direct Sunlight is necessary for the Coffee plantation.
ii. Coffee plant needs abundant rainfalls.
iii. Fertile soils rich in iron and potash are maost suitable for its cultivation.

iv. Coffee can not tolerate water stagnation.

Select the correct answer using the code given below :

a. i & ii only b. iii & iv only C. ii, fii & ivonly d. i &iv only.

With reference to Co-operative Societies, consider the following statements :

i) The right to form co-operative socities is a fundamental right.

ii) The Parliament is empowered to make laws regulating the multi-state cooperative societies.

Which of the statements given above is /are correct? :

a) i only b) ii-only C) Both i and i d) Neither i nor ii.

In the context of Particle Physics, consider the following statements :

i) Higgs Boscon particles was discovered in 2012 by the ATLAS and CMS experiments at the
Large Hardon Collider (LHC) at CERN.

ii) Higgs Boscon, the God particle explains why particles have mass.

Which of the statements given aboveis/are correct? :

a) i only b) i only C) Both i and i d) Neither i nor ii.

Which of the following is / are correct with reference to the Secretary-General of Rajya
Sabha? :

i) He / She is appointed by the Chairman of Rajya Sabha.

ii) He / She is the custodian of the records of the House.

Select the correct answer using the code given below :

a) i only b) i only C) Both i and i d) Neither i nor ii.
Which of the following statements are correct regarding the Ahom Kingdom? :

i) The Ahom kingdom was the only kingdom which remained undefeated by the Mughals.

ii) The Ahom kings depended upon forced labour called paiks.

iii) The capture of wild elephants was declared a royal monopoly by the Ahom kings.
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Select the correct answer using the code given below :

a) i and ii only b) iiandiiionly ¢) i, i and iii d) i and iii only.
Which of the following is / are correct with reference to the C. Rajgopalachari Formula? :
i) It recommended the Muslim majority areas to exercise the right to self-determination.

ii) It wanted the Muslim League’s to endorse the Congress demand for independence.

iii) The formula received Gandhiji's support.

Select the correct answer using the code given below::

a) i and ii only b) i only C) i, i and i d) i and iii only.

In the context of the medieval history of South India, the terms Manigramam and Nanadesi
referred to :

a) Village headmen b) Sects of Bhakti saints

C) Trade guilds d) Village given in the form of gift.

The terms ‘Southern Blot’, ‘Variable Number Tandem Repeat (VNTR)’ sometimes mentioned
in the news are related to :

a) Blockchain technology b) DNA fingerprinting

C) Particle physis d) Artificial Intelligence.

“The Act made the Legislative Business to be conducted in public instead of in secret and
reports of proceedings were officially published. Standing orders were adopted to conduct
and regulate proceedings. The Bills were referred to Select Committees before being passed
by the Council. It gave the legislature for the first time the right to frame its own rules
and procedure.”

Which of the following acts is being described in the above-given passage? :

a) Pitt’s India Act of 1784 b) CharterAct of 1833

C) Charter Act of 1853 d) Government of India Act of 1858.
Consider the following statements about the office of the High Court in India :

i) The power to extend the jurisdiction of High Court is vested with the Parliament.

ii) The Judges of a High Court are appointed by the Governor of the respective states.

iii) A High Court can settle dispute between two states.

Which of the statements given aboveis/are correct?:

a) i only b) i and ii only C) iirand iii only  d) i, ii.and iii.

With respect to the National Company Law Appellate Tribunal (NCLAT), consider the
following statements :

i) It was constituted under Companies Act, 2013.

ii) Chairperson of the tribunal must be a Judge of the Supreme Court or the Chief Justice of a
High Court.

iii) It can hear appeal against the orders passed by Insolvency and Bankruptcy Board of India

and Competition Commission of India.
Which of the statements given above is/are correct?:
a) i only b) i andiii only C) iiandiiionly  d) i, ii and iii.
Which of the following are the criteria for declaring a Biodiversity Heritage Sites (BHS)? :
i) High endemism.

ii) Presence of rare and threatened species and Keystone species.

iii) High density of forest and tree cover.

Select the correct answer using the code given below :

a) i-and ii only b) iiandiiionly ¢) i and iii only d) i, i and iii.
Which of the following are the determinants of Minimum Support Price (MSP)? :

i Demand and Supply ii. Amount of annual rainfall

iii. International price trends iv. Implications of MSP on consumers.
Select the correct answer using the code given below :

a. i, i &ivonly b. il & iii only C. i & iv only d. i, i, iii & iv.
Consider the following statements :

i) In a closed economy, savings and investment remain equal.

ii) In an open economy, savings are always more than investments.

Which of the statements given aboveis/are correct? :
a) i only b) i only C) Both i and i d) Neither i nor ii.
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Bandi Jeevan’ that served as a textbook for the revolutionary movement in India was written by:
a) Ramprasad Bismil b) Sachindranath Sanyal
C) Jogesh Chatterjea d) Surya Sen.

Consider the following statements :

i Light waves are longitudinal waves.

ii. Photon energy of visible light is lesser than the infrared radiation.

iii. Sun appears red during sunset and sunrise due to scattering of light.

iv. The shorter the wavelength of the light, the more itis refracted.
Which of the statements given above are correct? :
a. i &ii only b. il & iv only C. i & iii only d. ii, iii & iv only.

The Central Information Commission (CIC) is required to receive and inquire into a
complaint from a person in which of the following cases? :

i) If a person has been refused information that was requested.

ii) If a person has not received response to his information request within the specified time limits.
iii) If a person thinks information given is incomplete, misleading or false.

Select the correct answer using the code given below :

a) i and ii only b) i and iii only c) iiandiiionly  d) i, i and iii.

In the context of the employment scenario in India, consider the following statements :

i) Compared to urban areas, the proportion of workforce residing in rural areas is higher.

ii) While women account for 50% of the total workforce in the country, they form just one-third of

the urban workforce.
Which of the statements given above is /are correct? :

a) i only b) ii only C) Both i and i d) Neither i nor ii.
Consider the following statements regarding the India State of Forest Report (ISFR 2019) :

i) The total forest and tree cover of the country is around one-third of its total geographical area.
ii) Karnataka has the highest tree species richness among all the states in India.

iii) Arunachal Pradesh is the leading state in terms of forest cover as a percentage of its total

geographical area.
Which of the statements given aboveis/are correct? :
a) i only b) iiandiiionly ¢ i only d) i, i and iii.
With regard to Vijayanagara forts, consider the following statements :
i Cities were fortified along with agricultural tracts and forests.
ii. There was a single line of fortification for the cities.
iii. No mortar or cementing agent was employed anywhere in the construction of these forts.

V. Gateways to forts were influenced by Turkish architecture.

Which of the statements given above are correct? :

a. i & iv only b. il & iii only C. i, i &ivonly d. i, i, iii & iv.

Which is common to the places known as Sualkuchi, Pochampalli, Paithan :

a) Underground cave systems b) Centers of Silk Production

C) Water reservoirs d) Uranium deposits.

Consider the following statements :

i) Bhakti saints in the region of modern day Karnataka were popularly called Dasa saints.

ii) The important contribution of Karnataka's bhakti movement was the development of
Carnatic music.

iii) Purandaradasa was one of the earliest Dasa bhakti poets.

Which of the above statements is /are correct? :

a) i only b) iiandiiionly c¢) i and iii only d) i, ii and iii.

Which of the following powers enjoyed by the Chief Justice of India are mentioned in the
Indian Constitution? :

i) Appoint other place or places as the seat of the Supreme Court.

ii) Appointment of ad hoc judge in Supreme Court.

iii) Assignment of cases to judges of Supreme Court.

Select the correct answer using the code given below :

a) i and ii only b) iiandiiionly ¢ i and iii only d) i, i and iii.

Which of the following agricultural commodities have consistently registered positive trade
value in the last five years? :
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i Coffee il Fresh Fruits iii. Sugar iv. Spices.

Select the correct answer using the code given below :

a. i, i &iiionly  b. ii & iii only C. i &ivonly d. i, i, il & iv.

The Constitution (Seventy-third Amendment) At, 1992 does not apply to which of the following
Indian states / union territories? :

i Nagaland ii. Mizoram iii. Meghalaya iv. Kerala.
Select the correct answer using the code given below::
a. ii & iv only b. i, ii & iii only C. i & iii only d. i, i, iii & iv.

In the context of modern Indian history, Kundara Proclamation is associated with which
of the following events? :

a) Bhiwani uprising b) Kutch revellion

C) Velu Thampi's revolt d) Palamau uprisings.

Which of the following are chemically radioactive elements? :

i Actinium ii. Astatine iii. Rhodium iv. Radon.
Select the correct answer using code given below:

a. il & iii only b. i, ii & iv only C. i, iii &ivonly d. i, i, iii & iv.

The Constitution (Seventy-third Amendment) At, 1992 does not apply to which of the following

Indian states /union territories? :

i The genome of influenza virus contains double stranded segmented DNA.

il Influenza virus is transmitted primarily by droplets or respiratory secretions of infected persons.

iii. Severe respiratory disease in birds called avian influenza is caused by HIN1 type of
influenza virus.

V. Influenza virus has high mutation rates enabling the virus to cause repetitive influenza outbreaks
by evadingimmune recognition.

Which of the statements given above are correct? :

a. i & iii only b. ii & iv only C. i, il & iv only d. ii, iii & iv only.
Consider the following pairs :
River Lake
1. Jhekum : Wular
2. Ashtamudi : Kallada
3. Luni : Pushkar
4. Deepor Beel : Brahmaputra.
Which of the pairs given above are correctly matched? :
a. i, ii & iii only b. i, iii &ivonly c. ii, iii & ivonly  d. i, i, il & iv.

With reference to the socio-economic developmental indicators in India, which of the
following indicators has consistently increased in the last decade? :

i) GNI per capita ii) Percentage of employment in the service sector.
iii) Female life expectancy at birth.

Select the correct answer using the code given below :

a) i and ii only b) ii and iii only — ¢) i and iii only d) i, i and iii.

He himself married a widow in 1893. He dedicated his life to the upliftment of Hindu widows
and became the secretary of the Widow Remarriage Association. He also set up an Indian
Women’s University in Bombay in 1916.

Who is being described in the above paragraph? :

a) B.M. Malabari b) D.K. Karve

C) Justice Govind Mahadeo Ranade d) Vishnushastri Chiplunkar.

In the context of modern Indian history, which of the following dealt with dominion status
for India? :

i Cripps Proposals (Mission) of 1942 il August Offer of 1940

iii. Communal Award of 1932 iv. Nehru Report of 1928.

Select the correct answer using the code given below :

a. iii & iv only b. i, ii & iv only C. i & ii only d. i, i, i & iv.

Nature Index 2020 which was released recently, is a database compiled by which of the
following events? :

a) United Nations Development Programme (UNDP)

b) International Union for Conservation of Nature (IUCN)
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C) Intergovernmental Panel on Climate Change (IPCC)

d) Nature Research.

Consider the following statements regarding White Label ATMs (WLAS) :

i) ATMs owned and operated by non-bank entities are called “White Label ATMs”.

ii) WLASs are not allowed to accept cash deposits.

iii) FDI up to 100% is allowed under automatic route in setting up WLAs.

Which of the statements given above is /are correct?:

a) i only b) i and ii only C) i and iii only d) i and iii only.

These Europeans were not much interested in empire-building in India; their concerns were
trade. They founded their first factory in Masulipatnam (in Andhra) in 1605. Their ambitions in
India received a crushing blow after their defeat in the Battle of Chinsurah. They were :
a) The Dutch b) The Danes c) The Portuguese d) The French.

Which of the following statement best describes the difference between Near money and
Dear money? :

a) Near money is readily and easily available for borrowing owing to low interest rates; Dear
money is money that turns expensive to borrow owing to high interest rates.

b) Near money is when money turns expensive for borrowing owing to high interest rates; Dear
money is highly liquid assets that can be easily converted into cash.

C) Near money is highly liquid assets that can be easily converted into cash; Dear money is
when money turns expensive to borrow owing to high interest rates.

d) Near money is highly liquid assets that can be easily converted into cash; Dear money is hard

assets such immovable property.

Which of the following Indian cities is located nearest to the Tropic of Cancer? :

a) Ranchi b) Kolkata C) Ahmedabad d) Dehradun.
Consider the following pairs :
Protected Area River Flowing
1. Melghat Tiger Reserve : Tapi River
2. Dehing Patkai Wildlife Sanctuary : Manas River
3. Sharavathi Wildlife Sanctuary : Cauvery River
4. Nagarhole National Park : Kabini River.
Which of the pairs given above are correctly matched?::
a. i & ii only b. il & iii only C. i, iii &ivonly = d. i &iv only.
Which of the following fuels can be derived from the Algae :
i. Biodiesel ii. Butanol iii. Gasoline
iv. Methane V. Jet Fuel Vi. Vegetable Oil.
Select the correct answer using the code given below :
a. i, i, iv & v only b il v&vionly  c. djii,iv&vionly d. i ii,iii, iv, v & vi.
Consider the following statements :
i) Introduction of Constitutional amendment bills.
ii) Approval of proclamation of all three types of emergencies.
iii) Consideration of the reports of the Finance Commission.
The Rajya Sabhahas equal powers with Lok Sabhain which of the given above circumstances?:
a) i-only b) i and ii only C) iiandiiionly  d) i, ii and iii.

With reference to the Comptroller and Auditor General (CAG) of India, consider the following

statements :

i) The CAG is appointed by the President of India on the recommendation of Prime Minister.

ii) CAG auditreports shall be tabled by the President to both the houses of parliament within six
months from the date of receipt.

Which of the statements given above is /are correct? :

a) i only b) i only C) Both i and i d) Neither i nor ii.

With reference to the economy during the British rule in India, consider the following statements:

i) The English East India Company came to India in the search of raw material to feed industries
in England.

ii) The latter half of the nineteenth century withessed commercialization of Indian agriculture.

iii) As a reaction to the economic policies of the British, ‘economic drain; theory was put forward

for the first time by Jawaharlal Nehru in his book Discovery of India.
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Which of the statements given aboveis/are correct? :

a) i and ii only b) i only C) i, i and iii d) i and iii only.

On which of the following is Goods and Services Tax (GST) currently levied? :

i. Tobacco products ii. Alcohol or liguor for human consumption

iii. Petroleum products V. Cultured pearls.

Select the correct answer using the code given below :

a. i only b. i & iv only C. i, & iii only d. i &iv only.

Consider the following statements :

i) The Parliament has the power to give the status of the National Party to political parties in
India under the Representation of People’s Act, 1951.

ii) Once recognised as a national or a state party, a political party retains that status irrespective
of its performance in the next elections.

iii) Recently, the United Democratic Party (Meghalaya) became the first north-eastern political

party to get this status.
Which of the statements given above is/are correct?:
a) i and ii only b) iiandiiionly  c¢) i only d) None.

Which Ahom King introduced the practice of the “Singarigharutha” ceremony? :
a) Sukrangpha b) Sukaangphaa c) Sudangpha d) Susenphaa.

Which of the following statement is not true about the Ahom King Suhungmung? :

a) During the reign of Suhungmung the first Muslim invasion on Ahom Kingdom took place.

b) In 1530 Suhungmung marched against the Kachari Kingdom and defeated them.

) Suhungmung was the first Ahom King to adopt the Hindu title of Swarganarayan.

d) Suhungmung established three new Ahom positions, i.e., Borpatragohain, Sadiakhowa Gohain

and Marangikhowa Gohain.

When did the British Government occupy the Khasi Hills? :

a) 1826 b) 1830 c) 1833 d) 1835.

Consider the following statements :

i) The Assam News was the first Anglo-Assamese newspaper in Assam.

ii) It was edited by Hem Chandra Barua.

Which of the statements given above is /are correct? :

a) i only b) ii only ) Both i.andii d) Neither i nor ii.

Who was known as ‘Bakulbanar Kobi’ :

a) Ananda Chandra Barua b) Hem Chandra Barua

C) Ambikagiri Raichoudhary d) Banikanta Kakoti.

When was the Matak Kingdom occupied by the British? :

a) 1830 b) 1835 C) 1839 d) 1840.

Who wrote the book Buraniji Vivek Ratna? :

a) Maniram Dewan b) Anandaram Dhekial Phukan

C) Haliram Dhekial Phukan d) Hem Chandra Barua.

Consider the following statements about David Scott :

i) David Scott was the first Agent to the Governor General for the whole of the North-East
Frontier of Bengal.

ii) David Scott died on 20th January, 1830 at Cherrapuniji.

Which of the statements given-aboveis/are nottrue? :

a) i only b) i only C) Both i and i d) Neither i nor ii.

Which Ahom King married the Manipuri Princes Kuranganayanayani? :

a) Paramatta Singha b) Rudra Singha

C) Shiva Singha d) Rajeshwar Singha.

During the reign of which Ahom King Chilarai attacked upon the Ahom Kingdom? :
a) Sukampha b) Suklenmung C) Susengpha d) Suramphaa.

When was the Assam Association formed? :
a) 1900 b) 1903 C) 1905 d) 1906.

When was the Asomiya Bhasa Unnati Sadhini Sabha formed? :
a) 1885 b) 1888 c) 1900 d) 1903.
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Which of the following statement is not true about the Pathuraghatar Ron? :

a) It occured in the year 1894.

b) The peasants of Kalaigaon, Mangaldoi, Sipajhar had gathered in the Raij Mels in Pathuraghat
to oppose the increased land revenue.

C) Mc Cabe was the Deputy Commissioner of Darrang during the revolt.

d) In the police firing that occured 140 peasants were killed and 150 were injured according to

unofficial sources.

Who was called ‘Sarojini of Assam’ by Mahatma Gandhi? :
a) Pramila Medak b) Mongri
C) Bhanumati Talukdar d) Pushpalata Das.

Which among the following King of Assam is mentioned in the Pashupatinath Temple
Inscription of Nepal? :

a) Harshadeva b) Jayamala

C) Balavarman 1 d) Vanamalavarmandeva.

Consider the following statements with respect to the Nag Missile :

i) Itis an anti-tank guided missile.

ii) Itis available in both land and air launched version.

iii) It has been developed under the integrated guided missile development programme.

Which of the following statements given aboveis/are correct? :

a) i only b) iirandiiionly c) i and ii only d) i, ii and iii.

Which of the following statements are correct :

i) Agricultural and Processed Food Products Expart Development Authority (APEDA) is an
Indian Apex body.

i) APEDA is looking now to undertake several other projects, including trial shipment of Lemon

and BhutJolokia.
Select the correct answer using the code given below :
a) i-only b) i only C) Both i and i d) Neither i nor ii.

State Cabinet recently outlines role of Guardian Ministers. Which statements is / are correct
regarding Guardian Ministers :

i) The Minister will be responsible for implementing Government policy decision, administrative
reforms and other welfare scheme.

ii) They will also review implementation of all centrally sponsored scheme and state own priority
programme.

iii) They will be responsible for the settlement of boundary issue with neighbour states / countries

of respective districts.
Which of the following statements given above is /are correct? :

a) i and ii only b) i.and i only C) i only d) i, i and iii.
“The Sundaram Committee” is related to which of the following State’s boundary dispute? :
a) Assam - Manipur b) Assam - Nagaland

C) Assam - Mizoram d) Assam - Arunachal Pradesh.

Which is the following Second Monthly Journal after Orunodoi in Assam? :

a) Assam Bilasini b) Assam Darpan

C) Assam Mihir d) Assam Bandhu.

Which is the 7th notified National Park in Assam? :

a) Dehing Patkai b) Manas

C) Dibru - Saikhowa d) Nameri.

Which of the following sequence is correct regarding present IMF quota and vote share? :
a) US > China > UK > India b) US > UK > China > India

C) UK > US > India > China d) UK > US > China > India.

Food Security Programmes in India breaches the limits prescribed under ‘Amber Box'.
Regarding this content which of the following is correct? :

a) As per peace clause was ratified at the Bali Ministerial Conference in 2013, the issue resolved
temporarily.

b) Amber box permits to run food security programme

C) For developing countries the limit is 10%.

d) Since the calculation of the cost of food-security is based on the prices pertaining of 1986-88.
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Which of the following statements are correct regarding the folk song ‘ZIKIR’? :

i) Azan Fakir introduced the folk song ‘Zikir'.

ii) Azan Fakir came to Assam in 17th Century from Iran.

Select the correct answer using the code given below :

a) i only b) i only C) Both iand ii d) Neither i nor ii.
‘Dolipuran’ by Narottam Das provides a description of which of the following? :

a) Narkelberia Uprising b) Munda Ulgulam

C) Patharughat Uprising d) Rangpur Dhing.

Which of the following states share boarders with Bangladesh?:

i Meghalaya il Mizoram ili. Manipur V. Tripura.
Select the correct answer using the code given below :

a. i, i &iiionly  b. ii, lii&ivonly c. i, il & ivonly d. i, i, il & iv.

Recently a state of India announced the launch of cookies/ biscuits made of ‘Muli Bamboo’
identify the States? :

a) Nagaland b) Tripura C) Karnataka d) Assam.

Consider the following statements regarding the Kaziranga National Park :

i) Brahmaputra River forms southern and the Dihang river forms its northern boundary.

ii) It has the largest population of the Wild Water Buffalo.

iii) India’s only Golden Tiger resides here.

Which of the following statements given aboveis /are not correct? :

a) i only b) iiandiiionly c) i and ii only d) i, i and iii.

Which of the following statements are correct regarding sericulture industry of Assam? :

i) Sericulture is an important labour intensive and agro-based cottage industry.

ii) Assam produces mostly mulberry silk.

iii) Muga silk produced only in Assam from cocoons of silkworms.

Select the correct answer using the code given below :

a) i and iii only b) i only C) i and ii only d) i, i and iii.

Who translated ‘GITA’ into Assamese :

a) Bhattadeva b) Madhav Kandali

C) Rudra Kandali d) None of these.

Who are belonging to Panchali Sahitya :

l. Ram Saraswati I. Pitambar M. Mankar

V. Durgabar V. Narayandev.

Select the correct answer using the code given below :

a. LILIMMandV b I vVand Vo c. LA IVandV d. [, 1, [land IV.

Under the which project, the Forest Biomass mapping of Assam was done? :

a) Space, Application Centre (SAC) b) National Remote Sensing Centre (NRSC).

C) North Eastern Space Application Centre (NESAC).

d) Drone Survey.

Which of the following statements are correct :

i) ‘Recorded Forest Area (RFA)' are those which have been notified as forest under any
government act.

ii) Forest Survey of India (FSI) obtains record about boundaries of (RFA) from State Forest
Departments (SFD).

iii) SFD are the custodians of the RFA’s.

Select the correct answer using the code given below :

a) i and ii only b) iiandiiionly ¢ i, i and iii d) i and iii only.
Identify the Governor-General who introduced the policy of auctioning the right of revenue
collection to the highest bidders? :

a) Warren Hasting b) Robert Clive

C) Lord Cornwallis d) Lord Wavell.

Which of the following was associated with the formation of the Congress Socialist Party? :
a) P.C. Joshi b) Subash Chandra Bose

C) Acharya Narendra Dev d) Ram Manohar Lohia.

Which of the following pair of Congress Session is not correctly matched? :
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a) Nagpur Session 1920 : Changes in the Constitution of the Congress.

b) Madras Session 1927 : Independence resolution passed for the first time at the instance of
Jawaharlal Nehru.

C) Calcutta Session 1928 : Return to Gandhi to active politics after six years.

d) Karachi Session : Resolution of fundamental right and national economic policy.

Read the following statement regarding Council of State; as given in Government of India
Act 1919 and choose the wrong one :

a) The total number were to be 60, out of which 26 were to be nominated and 34 were to be elected.
b) It was also based on separate elactorate.

C) Two seats were also reserve for women.

d) Its chairperson was appointed by vicroy and its members were called Honourable.
Consider the following statements regarding North-Eastern Council :

i) A North-Eastern Council has created under state recognization Act of 1956.

ii) It has to review from time to time the measures taken by the member states for the maintainance

of security and public order in the region.
Which of the statements given aboveis/are correct? :

a) i only b) i only C) Both i and i d) Neither i nor ii.
Without green house gas in the earth, what will be the possibility outcomes in the earth :
a) The earth become too cold to live b) See level rises.

C) It causes floods d) It raises nitrogen.

Ganga river basin including all its tributaries is spread over how many States and Union
Territories in the country? :

a) 9 b) 10 C) 1 d) 12.

Recently seen in the news, ‘Maitri Setu’ is build over the river :

a) Feni b) Brahmaptra C) Ganga d) Hooghly.

Consider the following statement regarding human right courts :

i) The protection of human right act (1993) provides for human right court in every district.

ii) These courts can be set up by the Central Government only with the concurrence of the Chief
Justice of the Supreme Court.

iii) The Assam State Human Right Commission was constituted by the Government in 1996 as

per Protection of human Rights Act 1993.
Select the correct answer using the code given below :

a) i and ii only b) i only C) i and iii only d) i, i and iii.

Which of the following districts are sharing their Boarder with Bangladesh?:

i Dhubri il Hailakandi iii. Karimgan; iv. Silchar.

Select the correct answer using the code given below :

a. i, ii & iv only b. i & iii only C. iii & iv only d. i, i, i & iv.

Which of the following statements are correct in respect of Assam coal :

i) In Assam coal sulpher content are low and carbon content are also low.

ii) The estimation of coal reserve in Makum coalfield is larger than the Namphuk area.

Which of the statements given above is / are correct? :

a) Both'i and i b) i only C) ii only d) Neither i nor ii.

In which of the following district, of Assam Sillimanite is found :

i) Karbi Anglong ii) Sibsagar iii) Nagaon.

Select the correct answer using the code given below :

a) i and ii only b) iiandiiionly ¢ i and iii only d) None of these.

Consider the following statements in respect of Assam :

i) Growth of population during 1971-2011 of Assam is 113.12% against the National Growth
Rate of 120.77% during this period.

ii) Assam ranks 14th in size of population among the state of India.

Choosethe correct option :

a) Both i and i b) i only C) i only d) Neither i nor ii.

Which of the following language enjoy the classical status in India :
i Assamese il Bengali iii. Tamil
V. Sanskrit V. Kannada Vi. Odia.



Select the correct answer using the code given below :

a. i, ii, il & iv only b. i, iv, v&vionly c. i, iii,v&vionly d. i, iv, v&vi.
96. After the August 8 declaration, who are the following leaders of Assam were arrested?:

i Mohammad Tayebullah ii. Bishnuram Medhi

iii. Gopinath Bordoloi V. Fakhruddin AliAhmed.

Select the correct answer using the code given below :

a. i, ii & iii only b. i, il & ivonly c. i, i & ivonly  d. i, i, iii & iv.
97. Consider the following statement regarding ‘Shantisena’ :

i) Congress formed Shanti Sena.

ii) Local self government was envisage by Shanti Sena.

Choosethe correct answer by using the following code::

a) Both i and i b) i only c) i only d) Neither i nor ii.
98. Consider the following pairs :

Soil Region

i) Black Soll : Maharashtra.

ii) Laterite Soll : Assam.

iii) Arid Soll : Chattisgarh.

Which of the pairs given above is/are correctly matched? :

a) i andii only b) i only C) iiand iiionly  d) i, ii and iii.
99. Consider the following statements regarding North-Eastern Development Finance

Corporation Ltd. (NEDFI) :

i) It is a Non-Banking Finance Company.

i) North East Venture Fund (NEVF) is managed by NEDFI Venture Capital Ltd. (NVCL).

Choosethecorrect answer by using the following code::

a) i only b) ii only C) Both i and ii d) Neither i nor ii.
100.  Which is the correct regarding ‘number of person unemployed’? :

a) Labour Force - Work Force.

b) Number of person unemployed

x 100
Total Force Labour
C) Number of person unemployed
x 100

Total Population

d) Number of employed person per lakh of real GDP.



ABCD ABCD ABCD ABCD ABCD
1. OO00 [ 5. 0000 | 9. 0000 | 13. OOOO 17. OO0O
2. O000 | 6. OOOO | 10. OO0O | 14. OOCO 18. OO0O
3. OO0O0 | 7. OO0OO0O | 11. 0000 | 15. OOOO 19. OO0O
4. O000 | 8. O00O0 | 12. OOOO | 16. OOOO 20. 0000

ABCD ABCD ABCD ABCD ABCD
21. OO00 | 25. OO00 | 29. OO0O | 33. OO0O 37. O000
22. OO00 | 26. OOO00 | 30. OOOO | 34. OOOO 38. OO00
23. OO00 | 27. 0000 | 31. 0000 | 35. OOOO 39. O000
24. O0O00 | 28. OO00 | 32. OO00 | 36. OOOO 40. OO00

ABCD ABCD ABCD ABCD ABCD
41. OO00 | 45. OO00 | 49. OO00 | 53. OO0 57. O000
42. 0000 | 46. OOOO0 | 50. OO00O | 54. OOOCO 58. 0000
43. 0000 | 47. OO00 | 51. OO00 | 55. 0000 59. 0000
44. 0000 | 48. OO0O0 | 52. OO00 | 56. OO0 60. OO00

ABCD ABCD ABCD ABCD ABCD
61. OOO00 | 65. OO0O0 | 69. OOCO | 73. OOO0O 77. O000
62. OO00 | 66. OOOO | 70. OOOO | 74. OOOO 78. 0000
63. OO00 | 67. OO0O | 71. OO00 | 75. OO0O 79. 0000
64. OO00 | 68. OO0O | 72. OOOO | 76. OOOO 80. OO00

ABCD ABCD ABCD ABCD ABCD
81. OOOO0 | 85. OO00 | 89. OO0O | 93. OOOO 97. O0O00
82. OO00 | 86. OOOO0 | 90. OOOO | 94. OO0 98. 0000
83. OO00 | 87. OO00 | 91. OO0O | 95. OOOO 99. OO0O
84. OO00 | 88. OO0OO0 | 92. OOO0O | 96. OOOO 100.0000




